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Special Derivatives
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Implicit Differentiation:
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Fundamental Theorem of Calculus: (derivation of an integral)
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integrals

Basic Integrals {anti derivatives)
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Calculator

1) Find the zero’s: {quadratic formula)
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Theorems — Definitions — Graphs

Write a theorem or definition that each graph is trying to display.
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Sketch the function that satisfies the given
information.

9) Domain [—6,5] ]irr31+f(x)=—1,

lim f(x)=4, f(-3)=2, limf@)=-1,

f(2)=0

10} Domain (—oo,oo),f(x) is continuous at

x =—1, but not differentiable and f(—l) =3 The

x-interceptis —3 and the y-interceptis 2
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1) f(4)=3, f'(2)=0, f'(3)=0,
S (x)<0 intheinterval (-6,-2), f'(x)>0
in the intervals (—2,3) and (3,5), fis

continuous on the interval [—6,5]

12) fis continuous on the interval (—3,2) ,
lim f(x)— -, im f(x)— oo,
x—-3 %32

f”(x) <0 in the interval (—3,-1) and
f”(x) >0 in the interval (—1,2) :

13} The domain of f is [—4,3), f’(x) > 0 for all

X, f’(2) =0, there is an absolute minimum of

-3, but no absoiute maximum.
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14) The domain of f is (-2,5) , there is a relative

(local) minimum at x =0 and a relative maximum
at x =3 and a point of inflection at x =2, but no
absolute maximum or absolute minimum

15) The domain of fis 4,5, lim f(x)=2,
lim f(x)=4, f(=1)=2, onthe interval
(=4,-1) both f*(x) and f”(x)>0,on the
interval (~1,5) both f*(x) and £”(x)<0.

16) The domain of fis [—4,5], there are 3 critical

points at x = -2, 1, 3, absolute (global)
maximum at x =—4, absolute {global) minimum
at x =1, relative maximum at x =3, butno
relative extreme at x = -2
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